=CN
=

TR

T
Psi

1. THE4
TH4 R 10T A X THAERKERM (t014) TH
THEHA JE VRS Ay BT o i ke
2. THEHNE
1)  HEI4 BIRESEREFESTT LR
2) F I & ERKG R T
3) T i 249 H H F0 T4 3H25H

ES) A THE11H 28 H

4) TEyE




il
W
>
%
I

T=4 | ERELOSAEMX THEEREE (tn14) THE

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
JERRH R X 1 80, 048, 605
HEELT = 1 5, 387, 180
HRHEI T = 1 33,110 |BEA MR 10
KRB
Bt = 1 5,354,070 |B&IA (BLt8) ik + 760
4. 0mPL E
H 1 660
G D)
L O-27)
R Zp s 760
S i
R Zp s 660
BE L
% T = 1 73, 005, 775
R e T X 1 72,337,615 | MM a7
TITH PSRRI & 9. 6m BIRITIAR 8
mBLF ;
N ER 128
e 2t #a (5~100ke) ;
A T & 175
¥4 (5~100kg) ;
T5VEBE Ik T 2 1 494, 460 | {5¥EBS IE7 2% 60
(Gia
il MR EEE/n-b ¢ 400 H=2. Om($£500) ;
VB 1R 7 22 60
ik A e} ¢ 400 H=2. Om (#500) ;
AR IEE BT 2 1 173,700 |73 @il 5 1
s ALER T = 1 1, 655, 650




T=4 | ERELOSAEMX THEEREE (tn14) THE

THEXSy - THE - FE5 H7 % & i Gl N

DAL PR T =X 1,655,650 | JEULERIEE X
[P % X 80, 048, 605
Hm IR E 2V 9, 602, 000
e Tre: 2V 1, 000, 000

R 2V 142,000 | FRFRAIRIE 2 Ey
BUGBREIUEL (REH L) 2V 858, 000
sty (R L) 2V 8, 602, 000
ol T X 89, 650, 605
TR e gL 2V 29, 388, 000
T AT X 119, 038, 605
— i PR 2V 19, 941, 395
N 2V 138, 980, 000




